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[
M Z=0l #EHO| £
el FoEd XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SHAOES B2 AXI
16,000,000 *10H 2~ 16,000
~SHOIE 4% U S2EX
17,000,000 * 10K 2 17,000
—ot=4lts =22
12,000,000 * 104 2 12,000
o=+ AL 10,000 10,000 0
201 er23 | 10,000 10,000
01 At2teltl 10,000 10,000
O=sAlgldissSs+88 Sitg
500, 0003 »20CH 10,000
S FUFN0N =22 3,000 3,000 0
201 fer= 3| 3,000 3,000
01 Al222lH| 2,400 2,400
OSH FUHCHAIAS Y S
100,000 8 x33] 2,400
03 #AL2 | 600 600 0
OSY FoFOHMIAS 2
200,000 #33] 600
HE FRAIMES =4 3,800 3,800
202 04dl 2,800 2,800
01 2L AL 2,800 2,800
OBE FQ80 X1
20,0002 x14E* 102 2,800
203 gF=4| 1,000 1,000
03 A=A 2= 1,000 1,000
OFx otolid & WFA
1,000,000& 1,000
StH &< 15,452 16,192 AT40
101 @124H| 10,418 10,190 228
MU IIRINZZENSES 10,418 10,190 228
OodtAI g 10,418
—Jl2=s 78,9003 »100& 7,890
—F=5=g 78,9003 x20 1,578
—28= 950,000 950
206 M=l 5,034 6,002 A968
01 MZH| 5,034 6,002 A\968
OstAZ S 7= 5,034
—3E= 1,580 6 £ 100 948
-3 1,513 %27 £ »100 4,086
HZRX 16,602 16,260 342
101 @124H| 15,602 15,260 342
M ORIMZZ2NSE S 15,602 15,260 342
OReX FESX| 4.73%
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el FoEd XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—REA FEFA AL
78,9002 %324 x202! 4,734
OAZE ZH L 22|
78,9003 x2& »60! 9,468
OFEX HZRA & 4832 &4 288
1,400,000 1,400
206 M=l 1,000 1,000
01 MHZH| 1,000 1,000
OAZ¥ B2 W27PY(EH S)
1,000,000 1,000
FoZH BLXxd 21,181 19,568 1,613
101 21A4H| 16,281 14,668 1,613
04 JIZtN2 2N S 2+ 16,281 14,668 1,613
OJtZ22td 38| 212
78,9002 8% +8! 5,050
OFRE2H BUXA
78, 9002148+ 1724 10,731
OFQERY BATH PR
500,000 500
206 M=H| 4,900 4,900
01 M= HI 4,900 4,900
22 xd Mz 7 4,900
-2 7Y 1,000&+3,000= 3,000
—gl8l 7 3,800 *500% 1,900
FEN A 180,180 139,580 40,600
301 EtE NS 180,180 139,580 40,600
07 S8 -0 - HHES2d3 178,620 138,020 40,600
OS - cl - ¢d =& & 24| 178,620
—01E JlExg 400,000 x20E «12& 139,200
—0l¥ d0i= 400, 0002 x20E <23 23,200
=01 29&S =&
20,0003 x20EH+23|x 12 13,920
—otE 243 50,0003 *46H 2,300
11 AALRHIXIR S 1,560 1,560 0
OZF0E ZLIEHRE +=#3
20,0002 *x20H «13] 580
OO0l A= 10,0003 292 »23] 580
OFt &S & ALEN ws FHL
A& 10,0002 x40 * 12| 400
SO A& 2,000 2,000 0
201 et 3| 2,000 2,000
03 A2 I 2,000 2,000
oggle] & Ald 500,000 x4H 2,000
FUXNXIHE 2E 47,940 60,429 A12,489
201 er23| 11,940 18,824 6,884
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M R0l @HMO £
el MEAE 2s2te EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oz & sHE SHIDIAIE
78,9003 x23H 5 9,074
OotE MY =X 2 = 78,9002 x15& x5 5,918
O 28 22 282
1,500,000 1,500
HY2HIHI(HER) 76,789 70,109 6,680
eIE =g 6,960 6,360 600
el =gl 6,960 6,360 600
202 048l 360 360
01 2L AH| 360 360
O3RZ22X &F0|
20,000 63 3 360
WM HSEE=S 6,600 6,000 600
4 BRA(RIHA)22N BEERES S 6.600 6.000 600
ORVNHL2ZEX BE=(49)
550,000& 122 6,600
Jl=3H| 69,829 63,749 6,080
Jl=23H] 69,829 63,749 6,080
201 fer23y| 31,617 24,877 6,740
01 AtR2t2|HI 31,617 24,877 6,740
O=AD| gits 770,000 * 122 9,240
O3J1E8I & d=)| Sz
202,400& 128 2,429
OoZgt El+Y 150,000& 42 600
OAMRE 225 7 150,000& * 12 1,800
O=ALEX 30,0002 x108t A% 123 3,600
Oar2 8IS =&l 1,000,000& 1,000
Otl2+H=2 660,000 42 2,640
OEA-HI 120,000 *43] 480
OgREEE SdIPIE X
100,000 x 123 1,200
OstZdH =378 2,400
—EA E SEEA 100,000& «12& 1,200
—AIDHK E A 100,000& ~ 12 1,200
OLAHI(&,54) 60,0002 9! 540
O=gtl 8,000 »13& » 128 1,248
OZ0Istd II=sl 600,000 *3& 1,800
Osdll RAE= 220,000 122 2,640
202 04l 27,552 27,552
01 =LHA LI 2,352 2,352
OFAMEZ =0
20,0002 * 14122 *7(f% 2,352
02 A0 25,200 25,200 0
OZ 048l 150,000& x14& 12 25,200
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